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Instructions for Candidates

1. Write your Roll No. on the top immediately on the receipt of this question paper.

2. Section A contains 7 questions of 1 mark each, out of which you have to attempt
any five questions.

3. Section B contains 13 questions of 2 marks each, out of which you have to
attempt any ten questions.

SECTION ‘A’

1. What kind of Programming concept is used in Lab VIEW ? 1)
2.  What are two panels used in Lab VIEW programming ? (1)
3. What is a Case Structure ? (1)
4. Identify the following icons 1)

P.T.O.
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5.

6.

10.

11.

2
Identify the given structure ¢}
Find the output (1)
S Answer
] - +T:»-~—»
What is the use of DAQmx ? (1)
SECTION ‘B’
What is the difference between local variable and global variable in

labVIEW ? )
What is autoindexing ? (2)
Explain Bundle and Unbundle cluster operation. (2)

What is a state machine ? 2)
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12.

13.

14.

15.

16.

3
What is SubVIs ? Explain its advantages over VI. 2)

List any four important specifications while selecting a data acquisition
device. . 2)

What is the value of Shift Register Answer after the following’ code is
executed ? ' 2)

Shift Register Answer!

J@

= > ﬁ

What is the difference between local variable and global variable in
LabVIEW ? 2)

How many bytes are written to the file when the following code is
executed ? 2)

_prepend array or string size? (T)

operation ]
% - X
wcreate v D "._) l D
--------------------------------- u'o‘ EAEAL TRYRL FEY PRY PLTPPETEY

Open/Create/Replace File Write to Binary File Cloce File

PTO.
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17. What is the result in subarray when the following code is executed ? (2)
Array Subset
v M subarray

A BT ok 'T—@;.@ pom]
index =

tength

18. Identify the following :

|4 l
€
a. b. — c. : d.
EXd jan
e

19. Write out the contents of Array A and Array B after the following code

executes : (2)

20. Write the equivalent equation for the following code (2)

(100)
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